SSC Exam Questions

Sunday, March 12, 2023 4:00 PM
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Q.1 The cost price of an article is ¥ 2800. Profit as a percentage of selling price is 20 percent. What is the actual profit
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Q.1 Asold a mobile phone to B at a gain of 25% and B sold it to C at a loss of 10%. If C paid 25,625 for it, how much did A
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Q.2 The sum of the curved surface area and total surface area of a solid cylinder is 2068 em?. If radius of its base is 7 cm,
then what is the volume of this cylinder? ( use 7=22/7) N
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Q.5 Acan finish a piece of the work ia 16 days and B can finish itin 12 days. They worked together for 4 days and then A
left. B finished the remaining work. For how many total number of days did B work to finish the work completely?
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Q.6 Asolid cube of side 8 cm is dropped info a rectangular container of length 16 em. breadth 8 cm and height 15 em which
is partly filled with water. If the cube is completely submerged, then the rise of water level (in cm) is
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Q7 1f (x+ 6y) =8.and xy = 2, where x > 0, what is the value of (x3 + 216y3)?
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Q10 1f4s5in?6 = 3(1+ cosf),0° < @ < 90°, then what is the value of (2tanf + 4sinf — secf)?
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Q.11 The lengths of the three sides of a right-angled triangle are (x — 1) em. (x — 1} em and (x + 3) cm, respectively. The
hypotenuse of the right-angled triangle (in cm) is:

- NIV
3,155 S,y I3 ¢ ¢ 1© — =7 —

Q.16 Find the greatest number 23a68b, which is divisible by 3 but NOT divisible by 9
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/ CP SP Q.2 When A commodity is sold for Rs. 34.80, there is a loss of 25%. What is the cost price of the
- commodity?
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Q.3 If the S.P. of an article for is 4/3 times its C.P. the profit peréent is.
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(D) 20 % %
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Q.4 By selling an article for Rs. 19.50, a dealer makes a profit of 30%. By how much should he I l/ .
increase his S.P. so as to make a profit of 40%7? ~_ Zv\aL /3 = 5—5 3 .
‘./('A]RS'|50 l.gc_P: tq.g l/ _ 25'/
(B)Rs. 1.75 | Y P
Ce= 15 < . 25
S. 2 Y - 19- -
e VTmevesSe = QGﬂ “ 4 ) /§ °
(D)Rs. 3 -
= 21 — \‘I < = | { | 2 '/
— [
"' .
Q.5 The C.P. of 20 articles is the same as S.P. of 15 articles. The profit percent is.... y} — |"( /;} /s
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Q.6 A fruit seller purchases oranges at the rate of 3 for Rs. 5 and sells them at 2 for Rs. 4. His profit 10
is.......
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Q.8 A man buys eggs at 2 for Rs. 1 and an equal number at 3 for Rs. 2 and sells the whole at 5 for Rs.
3. His gain or loss percent is.......
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Q.9 A sells a bicycle to B at a profit of 20% and B sells it to C at a profit of 25%. If C pays Rs. 1500,
what did A pay for it?

o A = I6D )
(A) Rs. 825 _ 20 \SD + \56D
9 A = CP R = s>
Rs. 1000 -
O Sp B = Cpc = SN0 = D | 5D
(C) Rs.1100 D
({)} Rs. 1125 Q.10 Two mixers and a TV costs Rs. 7000, while 2 TVs and a mixer cost Rs. 9800. The values of one
TVis...... -
(A) Rs. 2800 Y + ZZ] = [4goD oD + %(1 = 9¢w
(B) Rs. 2100 A 4 = a%HV
l/(}Rs. 4200 M K a = 4260
_ I
TA= yood
(D) Rs. 8400
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Cp = IoD
A tradesman marks his goods at 35% above its cost price and allows a discount of 17.5% for purchase in
cash. What profit per cent does he make ? M P _ "5 g
_ b
-:%\;- 11.25 SP = Q(YD ’la.ﬁ AD;} HP
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A trader sells his goods at 20% profit. Had he bought it at 10% more and sold it for Rs. 70 more, he 2 < )( X
would have earned a profit of 25%. Find the cost price of the goods. ?
=% 33
A Rs. 200 [ 2’_‘—
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A trader sold two bullocks for Rs. 8,400 each, neither losing nor gaining in total. If he sold one of the r lD - D - Ong *
Sf - &\160 bullocks at a gain of 20%, then the other is sold at a loss of 7
ij ﬁm A 20% %\16D - lc:m

sP Mp =

After getting two successive discounts Shalini got a shirt at Rs. 136 whose marked price is Rs. 200. If
the second discount is 15% find the first discount.
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P —sp= P
. 30
3. By selling 32 oranges for ¥ 30 a man losses 259 7 2 P = sP= 2
Mmany oranges should be sold forz 2 o how A
in the transaction? *-80 2510 gain 20% cp= £
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4.. The cost price of 24 apples is same as the selling price of L
18 ap?les. The percentage of gain is 2 SP s
(MN12-% (2)14%% (3}16%% C;lp 2
1
3 % (5) None of these
P—a—of\-‘/ = 1 '/D 0’}( G670
5. A merchant bought some goods worth ¥ 6000 and sold
half of them at 12% profit. At what profit per cent — LO¥0
;l;:gtd l;e‘1 sst:}l,the‘riﬁaining goods to make and overall 33 @ l'L°/ FWP +
0 ' 600 ()
4 = () 28 3)16
% (5) 26 ® folsd = 560
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% will be
(1) 32% 28% 3) 36
(4) 30% (5) None of these 19)36% ’{'A/
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9. A shopkeeper sells his goods at 15% discount. The ‘>/ _gé_- = %o\
" marked price of an article whose selling price is 2 629 is (657D
(2) 2704 (3) T 700
w:gﬁ (5) None of these =) mp = Eal
_ - oy L 6D ha 'aww
10. A dishonest dealer professes to sell his goods at cost Ow s \'\3/ ? )
price but he uses a weight of 800 g for a kg weight. Find 250 ?/
hisgainpe_r_&nt_. °/ V= 0 T
(1) 35% 2) 56% (3) 23% ° r 00
AL 25% (5) None of these p
W.JJ" Gain 9 = 1Tue weight ~False weight , 5,0, b _ ¢ 150 pen
1;C’V// False weight Qw l M"’ } (BTASVT AV “"d’ ) Vw\ll(/
11. A dishonest dealer sells articles at 10% loss on cost price

but uses the weight of 16 ¢ instead of 18 g. What is his cp — @ 5D
profit to loss per cent?
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(5) None of these
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]2. A dishonest dealer sells his goods at 10% loss on cost
price and uses 30% less weight. What is his profit or loss
per cent? = [0
) 28;%Ioss - -

3o/ mn:
(2}285,69am CF"’ 7 Y 16D - x%D

(3)23$%Ioss £ = |pxq0 = 16D
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(5) None of the above

0 = [m
1. Suhas sold an item for ¥ 7500 and incurred a loss of 25%. CP

At what price, should he have sol the item to have
gained a profit of 25%? oo
Do 't be determined
(3) % 11200 (4) Can't <o
(5) None of these . 1 \ O%—L + [= \%Q GED——'Q
7. A merchant has 1000 kg of sugar, part of wh%ch heose s
- at 8% profit and the rest at!8% profit. He gains 14 % on ETINe

the whole. The quantity sold % profit 1 j . = M0
(1) 500 kg 00 kg - 11D = DI =
% (3) 400 kg (4) 640 kg

% (5) None of these ~ = Y4oD kz
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> 120 —lyp = 0 [™
. . , sp = X
14. If the difference between the selling prices of an article
at profit of 6% and 4% is X 3 ,then the cost price of the Cf=1CD,
article should be p = \0G, (OY
(1) 100 A2 2150 /
(3)2175 (4) T 200 - 2 — %
(5) None of these | 7 2/

|6 — (o)

16. A shopkeeper purchased a chair marked at % 800, at two Mp = D % O- ﬂ X D« QT

successive discounts of 10% and 15%, respectively. He

;{)'ent ¥ 28 on transportation and sold the chair for Z 800. = Flowro0-2S
is gain per cent is - ol
(1) 40 (2 30 \/625 (4) 14

(5) None of these

Aiouﬁ/ o~vorleosods = &40
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18. A sells an article to B at 20% gain, Bsells it to C at 10%

_ —
profit and C to D at 25% gain for ¥ 330. The price at Sf J;&\/ 2 = (gl
which A bought the article is P Cp = | BL"I’ < 3 —_ \éf
() €176 @) T 1% for &=
4 .
(5) None of these @) 2225 6 — 1Se)

220 — 26D
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Percentage tosp = EZMFP oF =4
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28, Tﬁo sale price of 40 articles is equ_al to the: total printed . o) o . ZOD/
price of 32 articles. The rate of discount1s C o =L i

Thursday, May 4, 2023 8:00 AM

4)20%
(1) 5% @10%  @12%
hese .
(5) None of the e L <= & por Uhow
32. Pure milk costs.2-169 per litre. After adding water the cE = 12 pev Uiban
X milkman sells the mixture ¥ 15 per litre anfi thereby o
AW”}/’“W makes a profit of 25%. In what respective ratio does he ™ )(o . O - 15
mix milk with water? ~__ —
— A3t @4:3  (33:2 @)5:3 1z
5)4:1 . / ™~ H — 5
122 = %7) 12-
37. Aman sells an article at a profit of 40%. If he had bought it cf > i
at 40% less and sold for ? 5 less, he would have gained e
50%. Find the cost price of the article. z _
(1) 210 (2) 2 15 (2) 2 20 (4)230 0 Gt "M —5
(5) None of these —
: (- = (ocy =002
_______ . 20 s
1. 1€ 30% of (B — A) = 18%of (B + 4), then the “t“‘ = @ T =
is equal to 4 2 = \)
(1)4:1 Lo
(3)5:4 @5 A= |
(5) None of these 2 y g/ S 2 Z>/ =Y
x = _ 1 27 ez T 21
5y o
7. L ) o %( AXV\»MD)
- c _ ,)L? \O\X/ PPN 1
A ~ .
2. 1f 30% of Ais added on 40% of B, the answer is 80% of B. 0 : o [0
What percentage of Ais B? ]
(1)30 (2) 40 = ZpTUR =2 = Zp ="K
(3) 70 (4) 75 Y
(5) None of these -5 A -
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